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41- Many of the students found it very difficult to express … English in the classroom yesterday.
1) themselves clear while spoke 2) them clearly while spoke
3) themselves clearly while speaking 4) them clear while speaking

42- A: I think my house … painting again. Can you help me with it?
B: Sure, I … do whatever I can.
1) needs – will 2) is needing – will
3) is needing – am going to 4) needs – am going to

43- In my opinion, … student is speaking so fast that no one … get what he is saying.
1) this Italian young – should 2) these Italian young – should
3) these young Italian – can 4) this young Italian – can

44- His grandfather is very ill, and doctors say that he will sadly … in a few months. However, he is 
still hopeful that they can find a way to save his life.

1) get around 2) put out
3) pass away 4) die out 

45- If you … his early novels with his later work, you can see how his writing style has developed.
1) describe 2) follow
3) prepare 4) contrast

46- She doesn’t feel good after her husband’s death, and she … still needs to talk about that terrible 
accident to other people. 

1) carefully 2) suitably
3) quietly 4) probably

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct 
choice on your answer sheet. 

People throughout the world have built pyramids at different times. The …(47)… were built in 
Egypt more than 4,500 years ago. There are around 138 pyramids in Egypt. Some of these 
pyramids are huge. The Egyptians …(48)… that when they died, they would make a journey to 
another world where they would lead a new life, and they would need all the things they used 
when they were …(49)…, so their families would put those things in their …(50)… . Egyptians 
who were poor were buried in the sand while the rich ones were buried in a pyramid.

PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.



47- 1) as famous pyramids as 2) more famous pyramids than

3) most famous pyramids 4) more famous than pyramids

48- 1) believe 2) believed 3) will believe 4) were believing

49- 1) weak 2) alive 3) healthy 4) endangered

50- 1) deserts 2) graves 3) elements 4) materials

51- Sara has been ill for about two months. Her illness was … we thought at first. 

1) as much serious than 2) more serious

3) the most serious  4) much more serious than

52- Hurry up! We … miss the train. We have an important appointment … five thirty.

1) can – in 2) may – at 3) must – at 4) may – on

53- It is a/an … for the government to pay for health care for the war-disabled who lost one or some of 

their organs. 

1) obligation 2) attention 3) attraction 4) destination 

54- To make a better arrangement, we have to know how many people you have invited to … your 

son’s wedding ceremony.

1) orbit 2) invent 3) succeed 4) attend

55- I don’t have any time to care for the children. I have to ask a taxi driver to … them from school 

every day.

1) collect 2) carry 3) defend 4) compare

56- It was difficult for my father to … the money equally among the family members.

1) increase 2) narrate 3) divide 4) express 

PART D: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct 
choice on your answer sheet.

Protein plays a very important role in a successful health, beauty, and anti-aging program. It is 

the basic material of life. In fact, the word “protein” comes from an ancient Greek word meaning 

“of first importance.”

The body could not grow or function without it. As protein is digested, it breaks down into 

amino acids, which are then used by the cells to repair themselves. Since the human body can 

manufacture only 11 of the 20 amino acids that are essential for life, the remaining 9 must be 

provided through the intake of dietary protein.

PART C: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet.



Without enough protein, our bodies enter into a fast aging mode. Our muscles, organs, bones, 

cartilage, skin, and the antibodies that protect us from disease are all made of protein. Even the 

enzymes that take part in essential chemical reactions in the body–from digestion to building 

cells–are made of protein. If your cells do not have complete access to all the essential amino 

acids, cellular repair will be incomplete and also much slower.

It’s important to note that protein cannot be stored in our bodies and therefore we need to 

have a good source of quality protein at each meal for optimum health and cellular repair.

57- What aspect of protein does the passage mainly discuss?

1) What it does 2) What it is made up of

3) How it is produced 4) Where it can be found

58- Which of the following is TRUE about the origin of the word “protein”, according to the 

passage?

1) It is related to words meaning health, beauty, and anti-aging.

2) The actual word which it originally comes from means something that matches the importance 

of protein for the human body.

3) It comes from a word in the English language which has a similar meaning to a word in Greek 

meaning “of first importance.”

4) It goes back to a word in the Greek language which was invented when the role of protein in 

protecting our health was first discovered.

59- Which of the following is NOT true about protein, according to the passage?

1) It is the source of amino acids that human cells need to repair themselves.

2) What the human body uses to protect itself against illnesses is made of protein.

3) The source of all the amino acids that the human body needs to function properly is the protein 

we consume.

4) In order to repair themselves, our cells require a number of amino acids some of which are 

provided through the intake of dietary protein.

60- It can be understood from the passage that enzymes … .

1) take part in the cell-building process

2) are needed for the production of protein in the body

3) make it possible for our cells to have access to the essential amino acids

4) are the product of a number of essential chemical reactions in the human body
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